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01.

02.

03,

04,

"Tfef“ (-m X @& = 3¢)

Short Syllabus

x* x%* a

3 1 b|=0%H,a9d N+ HdaFa

0 0 ¢

(a) 0, 2Va (b) 0, +v2 (c) 0,+Vb (d) 0, +V3 (e) 0,43
x* x% a P

T (d); (3 1 b=ﬂ=:-c‘x3 xll=U:c(x“—sz)=0=¢-x4—~3x2={}=~:~:2(}:2—3)=0
0 O

x=0 944, x = +/3

[Note: I e a 31 I A Fawe Tt TR, ©R A6 x 97 91 0, +3 FI a 97 9 0 WeT | g
GY 0 TP (1R 1 2TH BT x G VA2 BIGH AR ©I3 x GF MA@ $6e RO 49 TAR| W9 T a @7
THE, (5T QAT SIZLE AT Tor=6 QMR @3 1]

X WGt @@ 9 349 zx+[51, ﬁ = [g

@[ 3] Oy @ 6] @l 5 @ ]

me @ 2x+ [ g =[5 Jl=2x=[; 3]-[3 3l=[f Sl-x=[; 2]

ABC f&igte@ BC, CA, AB TRefa TQRGA ZFIF TAF (2, 4), (5, 0) €2 (4,—2) 1 IgEy Sararme
G [0S i ?

wE) o)  ewmns o) @ (-3

AL (a); G [ToE Saem @2 fagsitd IRt T‘Iﬁ“-ﬁ A *ifde frerem saem qaz |

‘ 44245 —24440\ _ [11 2\ oF AT
. ST FNT, G (Lo, )= (23 ¥ /0

3 33
B 2,4) C
y = 4x,y = 8x Ry = 2 G a4 5ifde faorae crawe 97?
(a) S su (b) ;su (c) = Su (d) 2 su (e) Lsu

T (b); y = 4x 9Ry = Bx qI WIS, 0 (0,0);y = 4x 9R y = 2 G @AY, A@n 2) Ry = 8x
qRy =2 @7 @Y B(3, 2)

B ro |

1 1| 1‘ 1 1 1 1
=—1——|=— _— - 1
2 > > zxz 45q.u1:uts

[ I
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05.  (—2,4) Repiift @fb 1ot e 1ot > 20T i Bofe B R 20 10 s vl s s e v

(a) (—6,—10) (b) (6, 10) (c) (10, 6) (d) (—10,—6) (€) (—6,10)

HAAHH: (b); WA, m—tanEl-— smB—-g cusﬂ-—g

. 2= Y—¥i1 x+2 3" 4 — x+2 -

"cuse_sine =dr= ; = 5 :t10=>—-><5 +10=2x+2 = +8=:—x-+B 20X=6,—-10
y—4

P =dl0=y-4=462y=16+4=y=10,-2- (6,10) 8 (—10,—2)

06. y= 3x+1t£1?1"3y x = 4 @ 1209 TRTHE (1R TRYeE y-SrFE P b3 Q re =n 91 PQ 93
LECERRRE ]

(a)3 (b) -3 ©) (@ -3 ()2

T (a);y=3x+1=23x—y+1=0..()) 9 3y—x=4=>x—3y+4=0..(ii)
3x-y+1 x—3y+4

= =23x—-y+1=+x-3y+4
G, (+)=:-3x—y+1=x-—3y+4=>2x+2y—3=[}-_—_>

+§=1:P(0,3)

2

N | =

OEIF, (—)=23x—y+1=—x+3y—4=24x—4y=-5=> _E'_E.'*'%': 1 - Q(U,%) ~PQ= E—%‘ = i unit
4 4
: > X__ 3x 5X
07, Limit e z»s-.z e T NI T2
x—0 X
(a) 4 (b) 2 ()0 | (d) 1 (e) —4
eX—2e3%4e% _ . e*—6e*+5e* ’ eX—18e3*+25e5X o .
AL (a); }cl'f};l] = = }{1‘1:1;1' " ( ) [L'HGpital’s Rule]= lim }{L ! - [L'Hopital's Rule]
1 18 + 25
— 4
08. x 99 HAMATH sin (cnt 1 1'”{) GRS CRiGACRISEN
(ﬂ)—g(l—x) - (b);(l—X) (c)—g(x+1) (d)%(x—l). ) (1—x)

W:(a);y=sin4(cnt‘ F) | 4fef, x = cos ©

0
| 1 + cos 8 2 cos? 5 6 6
~y = sin®cot™ " | = sin* cot™? 2 | = sin* cot™! cot= = sin*—
J1—cosb 7 sin2 2 2 2
sin? 5
\ 2
N S | 1 dy 1 1
—[E(l—cnsﬁ)} =E(1—EGSB)E=E(1—K)Z -2 x20-x (_1)=—5(1—x)
v__14
x-z(9
1 ')
09. X+ =47 &AM @ Tgm T T
(a) —2,—1 (b) ~2,3 () =2,2 (d) —3,3 (€) —4, 4
ERIEICE (c),f(x)-—x+ =:~f"(x)-1~— f’(x)-l——--—-ﬂ::rf,_,-=1=-x2=1=>x=i1
r 2
“F10) = (1), (-2)xF =
& (1) = 2 > 0 Tt A P 3 # f1(=1) = =2 < 0 T wFAH et @
_-_f(l)._l.}.l—zmﬁtdfﬂw f(—1)=-—1—1=—-211T'@WT={
5 (=2, 2) G, G

_ /A V£ oAfSTT ST RS “IUbA...
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y = JGsinx +y) 7=, L az m frdfa 2

(a) :u;: (b) ::s: (©) :;n_i (d) :_r;:, (€) 2y — cosx
FAAYH: (b); y = J/(sinx +y) = y? =sinx+y -~ 2y.y; = cosx+y;
dy COS X
2 1) = —
= y;(2y—1) =cosx = — = = V1 2y —1
11. fﬂ_m a3 W G A
i -1 2x-1 i -1 2x—1
(a) ztan™* (Z2) + c (b) Z5tan™ =)+
- 2x—1 2 _+ 2x-1 i -1 2X—-1
©gtn (57)+ @t (57) + @Fsin~ () +
dx _ dx dx 1, qX 2 _g(2x-1
T D3 e = s 1_f( .z)’+(f__§?m 5 tesgn (55)+
2 2
12. J‘E-x{l +iz} dx 97 %S T4 Fe?
X X
(h)ﬂ‘i‘ﬂ (c)g:-{-c (d) _i +c (e) —xe ™™ +c
@ e 2+ dx = fex{-L 4 Dax=—fer {2+ 1} dz[4R 2 = —x= dz = —dx]
=—£+c=ﬂ+c=e——+c=—£+c
—Z Z -X X
_ rme*(x*+1) m+1 3 3
13, 1= [T dx®, (o) 1B Tm fdu
- 3
(a) e*m (b) e™ (Z=3) () e3™ (d) e™ (T2 (e) e™
_orme*(x?+1) ,  emy [(X2-1)42 _orm oy [(x+1)(x-1)+2 _ (M _x[x-1 2
STI: (€); 1= f (x+1)2 dx = -rl Ex{ (x+1)? ]dx_ L Et{ (x+1)? }dx-— Il e {x+1 +(x+1)=] dx
X— m 1—-1 Rt m=1
[ ’ :-:+1] {(m+1)} —er e (r.n )E 0~ 1=¢e"T
. I_“_‘ﬂ) 13 = (m+1)° 3m (m-1)% _ a3m
" \m=-1 ~ (m-1)3 (m+1)3
14, W 3x— 4y + 7 =0 9L 2x + ky + 5 = 0 T GG 2[4 7% T OF k 9 N F67
3 3 2
(8) (b) -3 OF () -2 OF

AN (0); 3x—4y+7=0..() 9 2x+ ky +5 = 0...(ii)
3 2 6 3 3
-‘-—x(——)=-1::-—=1=>--—=1=:»k=-

4 k 4k 2k 2
15. 3x% —4x—5 = 0 NG T LS 1 I TARFHE FR7 @D ?
(a) 3x2+2x—6=0 (b) 2x2—3x+1=0 (©)3x>—4x+4=0
(d)5x2+x—1=0 (e)x°+3x—1=0
HAYIA: (a); 3x° — 4x — =[}.-.u+|3=§,a|3=—3§ a+pB—2= ——2:-5

RINIEP (ﬂ—l)x(B—1)=ﬂB—u—B+l=uﬁ-—-(u:+[3)+1=-—-§-—§+1=—§+1=—-3+1=_2

16. x* —7x% +8x+ 10 = 0 FAST G0 T 1 + v/3 e Foi7 evefler ey a1

(@) 1+v2,5 ®1-v3,1+vVZ (c)1—+3,5 (d)1-+3,-5 €)1-v2,5
AN (e); x° = 7x2 +8x+10=0... (i)

AN @B T 1 + V3 932 o7 TeTeT 1 — v’ia
~a+1+V3+1-V3=7a+2=7=a=5: ST 1 V3,5

EE |/ c

o = S o S s
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18.  OFA ToRyray sTRiwqd Al 7 T TR YAITHF TR ©OF SIS, TGS o7 ¢ S GTe! I §

kﬂaiﬁl
x2 = y? E y2 X2 _z_ ﬁ i—
@5+==1 (b)§+——1 ©)G+z=1 (d)35+ 1 @5+==1

=1—-—=¥-=§=ﬁa=8-’-b2=32

19. o [EBE FNET T F G0 WHIUST T fify 79 7 Toey qR0T TS vEg 16 93 @3

BRIl V21
() x* — y* = 32 @)%"};j:l €)x2—y2=42 (d)x*-y*=36 (e)x?—y?=16
(a);e=~f‘2&e=16=¢ae=8=}axﬁ=8=>a=4ﬁ
=1+ o2=140 20 21217 =32 52 - y? = 32; 71 fAedy oftgEeR TR
20. ‘Tﬁ*y=2x+2@ﬂﬁy = 4ax “RIFEF ™ F(F W1 SoraT THT O 6 237
(a) 4 (b) 8 (c) 16 (d) 32 (e) 64
A (€); y* = 4aX en vee o (1) @Ry = 2% + 2 .. (i)

c===2==>a=4 . TN as aza 0 = 4a = 16 4T |
21. x+y=1GNlD %%+ y? = c 97 GF =S T, ¢ 9T T @F 91
(a) 1 (b) 2 () V2 () OF

HAAYH: (e); x+y =1
2+yl=ca3x*+(1—-x)2=c=23x2+1-2x+x*=c=>2x*—2x+1—-c=0+D=0

=24-42.(1-0)=0=2448(c-1)=0=21+2(c-1)=0=21+4+2c—-2=0>2c=1~¢c=

M=

22. A WG F9: V2secx +tanx=1
() nme+ (b) n—= (c) 2nm— T (@) =+ (e) 2nm — =

4
2 + sinx

=1 =>\/§+sinx = COSX = COSX — Sinx =2
COS X COSX

AqYA: (e); V2secx+tanx =1 =

1 1 1 1]t 1
=>—cnsx——51nx=1=?cns(x+z) =]l =2x+—-—=2n=2x=2nm——:ne€Z

V2 V2 4 4
23. cos ix+cosTly = -Em, x2 +y2 G| NG IE T
(a) 1 (b) 0 (c) tan 1 (d)cos 1 (e) sin 1
AR (a); cos™' x + cos™ly = E = cns‘i{xy— V1-—x%4/1 -yz} = =
= xy—y1—x2./1—y2 = cusg= 0=21-x2J1-y2=xy=>(1-x2).(1-y?) = x2y?2

=>1—x2—y?+x?y? =x?y? =2 x2 4yt =1
24, 735 RoAdrog A I =1 12 units U3R 32 9670 20O FAUTFET 3 units W3R 4 units T FaMNeT | <oma0aa e F97?

(a) 48 and 36 units  (b) 48 and 48 units  (c) 40 and 36 units  (d) 40 and 40 units (&) 40 and 48 units
4

- o
ATYIE: (a); E’-;( tQ ‘ﬁ.P>Q-’-E=%=$=¢>P=48unlt5tﬂﬂﬁ.0_=36units
2P

B | ) AT




CKRUET SR=T105 | // @5} // B/ CKRUET 27 8 TST4TE: 303033

25. OS> I5CH@A 51791 AB = 5P, BC = CD = P 92 DA = 2P JA4 Te1eeTl fFaias | Ieteis =it fadfa a1

(a) 9P unit (b) V45P unit (c) 4v2P unit (d) 5P unit () 5V2P unit
AAIYIH: (No Answer);
2P
A—a——D P
0 0
Y P l TP ! > a6, R = /PZ + (4P)? = VPZ + 16P% = V17P
B—p ¢ 5P 4P

Extra Syllabus

17. (x +;§E¢,—)E G R &9 *mf 3797
(@) 7 (b) 14 (c) 21 (d) 35 (e) 28
B
T (); (x + )

‘ﬂﬁ?ﬂ?{, (r+1) 9 7q x Jfere QIW‘E{'J?TE\, (r+1)o3y 7w = ECI,_ x8T, (xi)r = BCI._}{E"T,}{_E‘I' = 8¢ y8-4r

3

IS, 8—4r=0=2r=2 . 3947 = 8C, = 28

oA (3¢ X ¢ = $3¢)

Short Syllabus

26. RIS AT I (SRR TG AW (I TG ST ATOICHA N FA1 L Aea?
(a) 0° (b) 30° (c) 60° (d) 90° (e) 120°
STAYIA: (e); TR0 AN (289 p W3 p

TS TGS (I o A, Fifdh = /p? + p? + 2ppcos & = /2p?(1 + cosa) = J2p2.2 cos? -

=J4pzm52§=2pcnsgi'ﬂﬁa‘{p'€£ﬁ, 2pcns§=p=> 2cus§= 1=>cns§=%=>§= 60° = a =120°

27. WA IF @A GI0 &9 I G Yol 90 G T (P @30 WME e x, T t 932 @S x 97 95
AT FIFT e B G Ot t = Vx + 5 w4 (LY 56T | T@ib7 3=t e 5 999 @71 =t w23
(a) 0 m (b) (t—5)*m (c)Sm (d) 1 m (e) 100 m
WHF{:(a};t=\/§+5=‘ew/§=t—5=x=(t—5)2=#x=l:2—10t-+25:.v=%=21_-—1[]
av=2t—1020=2t—10=>t=5:2x=(t-5)?=(5-5)’m = Om

28. 8 kg TLEF GF0 EIFA 357 10 m T (AT TS #A0G 50 om &L I RN T TR M0 Bofw 1 ofw
4 F97?

(a) 47.04 N (b) 94.08 N (c) 1489.6 N (d) 1568 N (€) 1646.4 N
W*ﬁ:(&);Fx=mg(h+x)=:—F=mg(%+1)=Hx9.ﬂ(—u1—%+1)ﬂ=1645.4m

29, 10 N O G0 941 2 kg ©tad Q30 59 9879 094 4 sec f&Fql <01 wigoq o 50 95 313 *=7T@T 10 sec @
@ 70 | T (6 TS G SOFy FA7
(a) 240 m (b) 140 m (c) 100 m (d) 150 m () 200 m

ST (b); 23 = — = > ms™? = 5 ms™?
NS = ultl +'31t§ = D+-]-'H5 K42 — (8}{ 5) m=40m Lﬂ'ﬂ'{vl = +ﬂlt1 —_ (5 xq_) nls_l = 20 ms_l

SR, 5, = (22 t, = (2“"“) 10m = 100m * Sper = Sy + S, = (40 + 100) m = 140 m,

N | ) R




CARUELETIRT / ﬁc}} /f /" CKRUET o 8 T R033-R

30. 200 m J[HFMEREE @F0 AP St} 50.4 kmh™! @t ST SiEe 1S To @id o FEF AW I?
B 3 T ez 20, IfRam < footam g Seors e B 2o 71 2
(a) 5.9°,0.25 m (b) 5.79°,020m  (c) 5.75,0.30 m (d)5.75°,030m  (e) 5.65%0.32m

FAIHA: (¢); 6 = tan™?! (f) = tan"l( s ) = 5.71059°

rg 200%x9.B

G, v=504kmh™ = Zi:-ms'i =14 ms™?

sin@ == = h = dsin(5.710059°) = 3sin(5.71059°).m = 0.2985 m ~ 0,30 m.

31. 900 kg SR G0 &6 350 kg ©F 0T 100 sec N 6wa] =it 18™ @RIt 75 m SRy WE@zd FE |
e RS FIe! F67
(a) 9.100 kW (b) 7.500 kW (c) 9.187 kW (d) 10.201 kW (e) 9.180 kW

A (c); P = (”““:"‘“}gh (9““‘*35”)””“?51:*; 9187.5W = 9.1875 kW

32. ﬂﬁsﬁ‘ﬂwmﬂﬁﬁﬁ“ﬁﬁﬂ%ﬁﬁmﬂﬁ_ﬁmTWﬂww otd s <bI AmREE

TRATC PEASII 1T AT | I 0.8 sec T UL (O SF 64 kg X0 s ek 7w 797
(2)3747.00N/m  (b)3848.00N/m  (c)3947.84N-m  (d)3947.84N/m  (e) 3497.84 N/m

A (d); k = mew? = m ("fr—“)2 = 64 X G—'&)z Nm~1 = 64 X G X 21':)2 Nm~! = 3947.84176 Nm~?

33. PP (U I CILFT (VIS TS BHOIA A0S Bateet Aife S 6 fiea ve1e

(a) 1.45 km (b) 2.45 km (c) 3.45 km (d) 4.45 km () 5.45
SY: (d); h = (TT ~1)R = (B —=0 1) x 6400 km = 4.447 km ~ 4.5 km

34. I R oo @) b’ TOITORT ASFIT GHAT T IAGFH g ¥R g’ T, O g R g’ I 0K F4F Fioe
¥ WA F9, <R3 R4 R, [Ans: a]

@g=g(1-2) ®mg=5L) ©&=s(L) @g=gR-h) (g =gR+h)

35. OFEA @R MR Sl a3 @ o ATHRGI TRIET et 45°C #iveat o1 I «3 ARG w5
9 932 IR FRAFT 3°C 3R 107°C #ANSTT A, B GPNR (TR SF© SN FIERIZ6 G &7 791
(2) 114.69°F (b) 100.69°F (c) 104.69°F (d) 102.59°F (€) 102.69°F

32 453 — o
W(),m — === F = 104.69°F

36. AMMIRZA ATF G35 I @IS T T I AR 99 = Fefow @ TS @oin s 712
(a) £3 (b) + = () £AV2 @+ LA &) +2

2
W(ﬂ)ﬂ"- x/Az—x3=b‘a‘; A% — xZ = x? 3‘: x—+EA

37. GIGH AT @ awmﬂmmlwﬁﬂmﬁwﬁhwm% Q32 G0 AfofE e
Mo oede | @l 3l ot @7t 1 ms™1 3% 0w, O o e Aeralbn e s =7 3w

b SifaRet e ?ﬁrl

(a) 2.31 ms~1,4,62 ms™ (b) 2.20 ms™1, 4,30 ms™?

(c)2.21 ms™1, 4,82 ms™? (d)2.41 ms™1, 4,62 ms™! (e) 2.4l ms™1,4.82 ms™?
FAI: (€); TP ST m AR @71 vy, W, @I S M 32 @ vy, m =

1 1 1M %
Eyp = 2Ep, =:"Em“‘"b_2M21"'311""11‘1=:’"-'?" 'z"vh Mvﬁlﬁvm=_2£=bvh=2vm

919, M(v +1)% = -mvh = M(vp, + 1)% = —(2%.4'“,1,,)2 = (v + 1)2 = 2v2
=V +1=2v, = vm(\/_ 1) =1%vp=24142ms™! and v, = 4.8284 ms™1

R [ T
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38. 27°C OMNIAR FTE F© SN (e A Tr3e fawd 237?
(a) 54°C (b) 273°C (c) 540°C (d) 1000 K

(e) 927°C

BRT

A (e); Cayg = |[— ~C VT

™M
2C=Cy X |28 T =T, x22 = (300 x 4)K = 1200 K = 927°C
el — T, Tz_c‘?.. 2= 41 — -

39. G AT IRATT THTTT 50% TA 32A SRS il 27°C1 2GAT Tl 60% TS T

SIIE T ATITS T2
(a) 60 K (b) 120K (c) 150K (d) 160 K (e) 200K

Ty y 300
W(c),DS—l——;:*-T_ns =T, ﬂl{ 5001{=>05—1—T+x=>0 === x=150K

n

40. —10°C SIIAR 10 gm IFFTE 0°C ST AT “fRde Fare GwGrE <Rees Fdw w91 e sl

Ol = 0.5 QIR IK%F 757019 & ©Of?f = 80 cal/gm.
(a) 0.373 cal/K (b) 0.1866 calK  (c)0.0373cal/K  (d) 2.930 cal/K. (€) 3.120 cal/K

. (oo 273 cel 273 N
T (€); As = Asy + Asy = MyceSice N2z + 2t = 10 (0.5In = + =) cal/K = 311699 cal/K

n

= 3.12cal/K
41. 1000 EILRFE T ORT G 4 @ w15 T4 27| FFIgFo oRfT @Y [T =1
() 1600£2 (b) 80002 (c) 400Q (d) 1000 (e) 250

ANL: (a); Rpew = N2R = 42(100) = 16000
42. V3 AW G @ G2 TANRANET AL S ST AN (14 FR0T T4 TS (4 T4 |

(a) 4 times (b) 2 times (c) Equal (d) 3 times (e) 8 times
FAIYI: (a);
R
e VATA R R
— & +  —Aan—aa—
| } s R = 4Rp [4 times]
Rp R
—AAN— —AAMN—

43. 0°C SIoIAN Skg ITTCE 0°C ST #HifATe AHTe 0o GG AREq 7o 71 ?
(a) 4153.85 J/K (b) 5361.13 J/KK (c) 6053.13 J/K (d) 6153.85 J/K (e) 5153.85 J/K

STAYT: (d); ASper = ot = T2 [K™* = 6153.846154 JK ™

4. el oA e 7RI Wt R s «iRe 2reR 1 o R TGP 4 2 5 6 R e A e e ?
(a) 7.11 unit (b) 7.18 unit (c) 7.81 unit (d) 8.70 unit (e) 9.81 unit

AMYE: (¢); A = J42 +524+2%X4x%5 cusgunit = 7.81 unit
45. @36 FAfErDd @08 9 V IR wret 10 mW @ 561 | Biferoe @fdes fows ity exifRe fge ¢ aiy a0

(a) 1.11 mA and 8108} (b) 1.11 A and 81080Q (c) 1.11 mA and 8108 kQ
(d) 1.11 A and 8108Q (€) 111 mA and 81080
T @) =2 =222 A=111mA ~R= T =————0=281080

46. @30 WIB F G FHIFF AT veie A wibs tady 99% =11 Acenia Aferest i w7
(a) 2.245 x 10°ms™ (b) 4.232 x 107ms™2 (c) 22.245 % 107ms™?
(d) 2.242 X 10°ms™ (e) 2.425 X 108ms™1

z
WAY: (b); 0.99], =1, {1 — E; =v=4232x10"ms™!

NEON /| @ ) A



V&) [

47. (I SIS (alfte-y offs GIFBRBIE 6000 Gt TR 7 Roor frew 58964 wwmnd ST caeit 2 o
BN S0 H2ITSH (Y (@ 4|

(a) 47.5° (b) 61.96° (c) 28.04° (d)41.43° (e) 58.96°
ANYE: (No Answer); dsind = 24 = %sin 0 =21 =sin0 = 2NA
=2 X 6000 X 10% x 5896 X 10~1° = 0.70752 .. B = 45,03349°
48. 500 kg O oIS SFW G0 G MRS 730 HelE fFaeie wifwr sitg | St o7 IUFTT 50 ke

G2 75 kg | O &rens N Rorde Mt 10 ms! @uef i< S @ @ =% e G v
T Aifoer 7?2

(a) 0.5 ms™? (b) 2 ms™1 (c) 25 ms™1! (d) 0 ms™? (e) 1.5ms™?
T: (a); 0= 50X 10— 75X 10+ 500v 5 22 =y = v = 0.5 ms™*

49, O FRREToER ufafe Tmete «ifaste s ==
I. = 1.98 mA; Iy = 20pA; JRTSTFOEE o, B €32 I @9 T (&3 T4

(@) a=10.99; B =99 and Iz = 5.02 mA | (b) a =99;B = 0.99 and Iz = 5.02 mA
(c)a=1099;3=99and Iz = 7.00 mA (d)a=99;p =0.99and Iz = 5.02 pA
(©)a=1099;p=099and Iz = 5.02 A '

AAHA: (No Answer); a = :—“ =it 198 0.99

g It 002+198

sB=-==22=099; =l +Iz = (1.98 + 0.02)mA = 2mA = 2000 pA

11—

50. (@I ST 60W @3 5 5 I 8 50W 97 6 5 9 W32 5 kW @7 afo f2351e itz | 9ifs @ Fpmel afsme 10
1 CA BT IR =B1R(b A 2 951 Beet | S [T @ Jiire T 285 [ge 95 F(?

(a) 90 kWh (b) 180 kWh (c) 300 kWh (d) 390 kWh (e) 480 kWh
AAE: (No Answer); E =Pt = (0.06 X5+ 0.05X6) X 10 x 31 + 5 %X 2 X 31 kWh = 496 kWh

T (3¢ X @ = >§e)

Short Syllabus

-51. =y ferate=s Rieae 24w Seam @mit?
(2) R — CONH, (b) R — NH, (c) R — COCl (d) R — COBr (e) R — CHO
Aq4: (b); R — CONH; + Br, + KOH - R — NH, + KBr + K,CO5 + H,0

52. T AqG Fa19 G A6 @ RS 3997 4 97

(a) Grignard Reagent (b) Lucas Reagent. (c) Tollen’s Reagent (d) Neslar Reagent  (e) Acid-base Reagent
AAYH: (¢); HCHO + [Ag(NH3),]0H - Ag | +HCOONH, + NH; + H,0

53. fAtea e Al sicaicafos @ Siferrifts Sex «f enfs T@?

(a) Benzene (b) Cyclohexane (c) Toluene (d) Chlorobenzene  (e) Cycloheptane

AIYI: (c);
El—» wifercEoe e

@ > SITCATCHO a4 e
oy, /¢ /
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[UPAC *1&fStS (CH3);CCH,CH(CH,), GisBa sy =9

(a) 2, 2, 4-trimethyl pentane (b) iso-pentane (c) 2, 4, 4-trimethyl pentane
(d) iso-octane (e) 4, 4, 2-trimethyl] pentane
AqYE: (a);

CH, CH,

| |
'CH; —2 IC—ECHE —“CH—°CH,

CH,

55. PRGN 37 Mo @F o wie w7
- — = _ 1 _ = — — . 1
@n=11=0m=0,s=—> Gn=2l=1m=1s=+;
1 1

©n=31=2m=-2,s=—3 n=31=0m=1s=+-

2

@n=41=2m=—1,5= +§

TGT: (d;n=3,]=0,m=15=+3
I=0%E m = 120 A=l
56. 1007 &7 S9HIRGE 10 B SRR [Raifie Fate 91 i R Beoim 23 ?
(a) 80.254 ton (b) 10.252 ton (c) 18.015 ton (d) 6.423 ton (e) 8.034 ton
AAYH: (e); ZnO+C - Zn 4+ CO
814 12 654
81.4 g ZnO fRfFt 3 12gC @A AN

4 10 ton ZnOﬁ[ﬁ"ﬂTm— X 10 = 1.474 ton C U9 AN

« Zn e Rfrre
81.4 g ZnO (ATF Zn (SR W 65.4 ¢

+ 10 ton ZnO CATF Zn Eﬁ'ﬂﬂ %X 10 ton = 8.034 ton

57. 20 ml, SIASTAA CuS0, FII BIREW F4TS 0.1M 20 mL. Na,S,0; T3¢ Wi 2| &Wa T4t FAEs ool

FG?
(a) 0.064 g (b) 0.127¢g (c) 0.021 g (d)0.210 g (€) 0.150 g
AYIA: (b); (ne)CuSO, = (ne)Na,S,05;ney X1 =0.1x20X10"3x 1
“Ney=2%x10"mol  ~Wg,=2%x10"3x63.5=0.127g
58. [CO(NH;)¢]Cl; wifbe @isiibre $aib I+ =itR?
(a) 27 (b) 18 (c) 21 (d) 12 (e) 24
TYE: (a);
27
B NH, 3+
H;N \ 1 / NH,
Co 3CI”
HN Tlﬂxxlﬂﬁ
NH,

Errfrﬁaiaﬁﬁ 3; vrfﬁmw 6; TSN IFA=3X 6=18; =~ (NBIFT =3 + 6+ 18 = 27

N, / © /
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59. @I B @ Bt R fem=ital P @ Q WS 72fb Mitia [vaet 22 I 0.3 €32 0.2 1 A% Q W TG 10
TY, O P AR Seifs o © 3097

(a) 4.444 (b) 6.667 (c) 13.333 (d) 8.889 (€) 17.778
*ﬁrmm'(d-(r—")z—ﬂ:dp—d (‘E)z—mx 02 _ 444 +Mp =2 x dP = 8.889
@5(2) 0= 02 = 10x (2 44t <= 2ap0

60. 25°CSIFNIEE Al(OH); g GITS! @oF= 3.7 X 10~15 Zge1, Al(OH), U7 TRyl T© 21?7
(a) 1.08 X 1010 mpol. L2 (b) 1.08 X 107® mol. L1 (c) 1.08 x 10~*mol. L1
(d) 2.18 X 10~*mol. L2 () 3.28 X 10~*mol. L1
ST (c); AI(OH); = AR + 3 OH™
49, BT S; Kgp = 27s* =3.7% 10715 . S = 1.08 X 10~*mol. L1
61. (IHUICIE pH = 8.5 QI IS 2.5 liter T3t Fo{6 H I TR?
@)727X10™°  (b)4.16x10™°  (c)5.48 x 10'° (d) 4.76 x 105 (e) 1.90 x 1015
FAHA: (d); [HY] = 107PH = 10785 = 3,16 x 10~°M; "H* = 3.16 X 10~ X 2.5 = 7.905 X 10~?mol
= HY I3 7t = 7.905 X 1072 X 6.023 X 1023 = 4.76 x 1015
62. 300 K SI*NI@IY @ 0.526 atm BT 15 g NIZLEITSH T TS 672

(a) 25.05 L (b) 20.05L (©) 15.05L (d) 10.05 L (e) 13.00L
22%0.082 e
A (a); V = HT?T =28 - E:EW = 25.05'L

63.  25°C SIS A AP @l (K,,) @ e avta) e Renfers ¢ SifcifErs #Aifia seeire @@ <)
(@) 1.20x107%:1  (b) 1.60x107%:1 (c)1.50x1078:1 (d)1.80x107%1 (¢)1.90% 10%:1
FHHE: (d); Ky =1 x107%; [H*] = /Ky, =1 x 1077M; [H,0] = 55.56M

- Raifre ¢ sl s s = —=X2C__ = 18x10-%:1

55.56=1x10"7
64. TIEI A0S pH 7.4 T U2 & 1 mL @ OH~ a7 5727t el 5

(a) 1.11 x 1013 (b) 1.34 x 104 (c) 1.83 x 104 (d) 1.51 x 1014 (e) 1.49 x 1013
AAY: (d); pOH =14 —pH=14—7.4 = 6.6 W32 [OH™] = 107POH — 109-66 = 2512 x 10~’M

-7
= 1mL @ OH— &g seyf = 2312X10 m";f]“m“‘“ = 1.513 x 104

66. 25°C O 8 1 atm 1A 400 mL SRS N, ST S9F Fe47T ey o1
(a) 6.023 x 1022 (b) 9.85 x 10% (c) 98.5 x 1021 (d) 98.5 x 1022 (¢) 9.85 x 1025

: PV 1x0.4
AL (b); n = 17 = ———— = 0.01635 mol ». N, SIS 7471 = 0.01635 x 6,023 x 102° = 9.85 x 1021 &
67. —13°C ©IAIGN 1500 mL WASTA GF0 2T 6.023 x 102 HeAF AT g ToifF® WCR) M 5ot

F97
(a) 1.005 atm (b) 144.111 atm  (c) 34.445 atm (d) 1.423 atm (e) 1.423 x 103 atm
6.023x10%2
FAA: (d); P = 2 = sozman OO _ g 453 atm
68. X2 @Je ,Y° cﬁﬁﬁfﬁa‘ﬂw b—a=5%, Y ciaba eift fer w0
() 2 (b) 18 (c) 14 (d) 16 () 10

TG (c); X = ,H na=1 b=a+5=1+5=6; ,Y°=,C=1s22s22p? -~ &9 =4+10= 14
69. 2.86 g FME FIGIA "G CTIGILT e ¥dg® e 100 mL. T34 ¥ T3 A | ¥4 @i a9

e wai

(a) 2.7M (b) 0.27 M (c)0.1M (d)0.01 M ()05 M

ST (b),’ﬁﬁwm Na,COs; S = mnuw _ 1000x2.86 _ 0.27M

106X100

L, / - /)
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70.

71.

T2.

73.

74.

75.

65.

.IE_ VA Y

7Y HzS04 9 &% R34 @17 malge SR BB F=jdars wifee Fawo 0.02 M KMnO, ¥ 98.5 cm’
M | RIS RFAloe &5 %o (577

(a) 0.5496 g (b) 0.0549 ¢ (c) 11.1603 g (d) 11.5684 ¢ () 9.3445 ¢
AA4IA: (a); "®Fe = MOKMnO4 = PFex 1 = 0.02 x 0.0985 X 5

= "Fe = 9.85 X 10™2mol . WFe =9.85x 1073 x 56 = 0.5516 ¢
*IfeT® CaCl, CATF OfER RTsaet fors 20 g PR 41g N T Fo7 Ry Ates T4?

(2) 94600 (b) 96500 (c) 48250 (d) 19300 (e) 95600
WeF _ 20x2x96500 _
TG (b); W= "2 = Q = 2= = —— > = 96500C
s @ TS Afdw?
_ A : Product LA
(a) K¢ = Kp(RT)4" (b) Ecer = E°eq + RT In [[R::::t:ng] ()E=h.2
— " Reactant
(d) pH — pOH = pK,, (€) Eceyp = E°e + RT In[ﬁ: d::ﬂ]
AL (No Answer.); A — 6T 7o Ky = Kc(RT)®"
Reactant
B,E - Ao w Ecenl = E°cel "I" ] [[Pt:'::l::t]]
C - o w9 E="
D - %fos 7ot pH + pOH = pK,,

%6 TR TR RIEFTR An = 21 F© GG SIRREE K, @ K, @9 T TG 40.5 @92 5.5 TA?
R = 0.082 L.atm.mo]~1. K1

(a) 273.16 (b) 546.32 (c) 661.26 (d) 760.00 () 432.28
STAH: (c); -2 = (RT)2" = 222 = (0,082 x T) = T = 661.26K
oo f[fdram A cinibe aFmafe sges o) (Ans: d)
Red P+Cl KCN(al [uti |
CH3COOH ——— 2 CICH,CO0H ———, CNCH, COOH —riok el
(a) HOOC — COOH  (b) HO — CH, — COOH (c) HCO — COOH
1.25 M NaOH Z99 *o<1 i@t (w/iv) R s
(2) 50.0 (b) 3.1 (©) 5.0 (d) 125.0 (€) 4.0
10 SM 1.25x40
TRI: (c); S = = WX === e = 5.0% (W/V)

Extra Syllabus

(FTN €S M 24 g 100 cm® TAT Faee TA9® STz | F R ~midf @ maet 7re frstfite 2@ 9% afedm
50 cmﬂiwmmqwq‘iwﬁwmwwWaawrﬁﬁﬂmﬁﬁﬁﬁ@mwi‘wwm

(@9.12¢ (b)11.23 ¢ (c) 14.52 ¢ (d) 18.13 g (€)21.33 ¢

KeS+V *50+100
=24-2667 =21.33 g

ST (e); wm W) = 24 (2% ) = 2667 ¢
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76.

17.

78.

79.

80.

g1.

83.

84,

&5.

86.

87.

88.

89.

7~

jy @} f’ﬂ /" CKRUET 2 8 Fiidis: 2039~
LA (¢ X ¢ = 33¢)

The condition of most slum dwellers 1s so measurable that it cannot be described in words. Which one is the
best phrase for the underlined expression above?

[Ans: b]
(a) Stand up for (b) Beggars description (c) Keeps open house
(d) Boils down to this (e) Cuts to the quick
The correct Bangla translation of ‘He left no stone unturned’ is - [Ans: d]
(a) 7 (I 212 T Ty ArdiH | (b) CT @19 =itelq sataf )
(c) (T (I BBl TR | (d) GT (521 & f6 T ) (e) (37 (b 3! ail (AL T4 o)
Choose the correct word(s) in the blank space of the sentence (Q. 78 and Q. 79).
I have to reach the station within 4 pm. I start now. [Ans: b]
(a) will (b) had better (c) may (d) shall (e) need
Bangladesh is a country that is by hundreds of Rivers. [Ans: a]
(a) Criss-crossed  (b) Washed (¢) Over flooded (d) Wiped out (e) Washed out
Which one 1s the correct active form of the sentence “It is said that the lion is the king of beast.” [Ans: d]

() The lion 1s said to be the king of beast.
(¢) The lion is the king of beast is said by all.

(e) The lion 1s the king of the beast as said.
Which one 1s the correct sentence?

(a) Neither of those mattresses feel comfortable.
(c) Neither of those mattresses feels comfortable.
(e) Neither of those mattresses has felt comfortable.

“A beggar is standing outside.” In this sentence the word ‘outside’ is used as-

(b) People says that the lion is the king of beast
(d) People say that the lion 1s the king of beast.

[Ans: c]
(b) Neither of those mattresses are feeling comfortable.
(d) Neither of those mattresses have felt comfortable.

[Ans: b]
(2) Simple preposition (b) Adverb (c) Adjective
(d) Double preposition (e) Compound preposition
“This is the book of which I told you.” Here the word ‘which’ is used as- [Ans: e]

(a) Distributive pronoun (b) Reflexive pronoun

(c) Reciprocal pronoun (d) Demonstrative pronoun
Which one is the correct Feminine of the word ‘Marquis’?

(a2) Duchess (b) Empress (c) Mistress . (d) Marchioness (e) Murderess

Which one will be the correct form of verb (insist) in the sentence- “Her brother along with her parents (insist)
that she remains in school.”

(e) Relative pronoun
[Ans: d]

[Ans: c]
(2) are insisting (b) insisting (c) insists (d) were insisting (e) have insisted
Fill the gaps with appropriate articles. “You will receive SMS, if you are eligible for subject 1n
Ka group” [Ans: d]
(a) No article, a (b) a, a (c) an, no article (d) an, a (e) an, an
What 1s the meaning of the idiom ‘Bury the hatchet’? [Ans: b]

(a) Stop doing something and going somewhere else.
(c) Preserve something for bad days.

(e) Try to make a hatchet.
Translate into English- “Siifs] S/q=j8 Fieifo Sfacg 711

(2) I must have the work done (b) I surely have the work done

(¢) I must have done the work (d) The work must be done by me (¢e) [ bound him to do the work

Transform the sentence “The man is too foolish to understand it” into complex form. [Ans: a]
(a) The man is so foolish that he cannot understand it.

(b) The man is such foolish that he cannot understand it.
(c) The man is so foolish he cannot understand it.

(d) The man is such a foolish that cannot understand it.
(e) The man is so foolish that he could not understand it.

A | ) /T

(b) Stop quarrelling and become friendly.
(d) Try to destroy a hatchet.

[Ans: a]

. e ae— =
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the handicapped

90. Fill in the blank with appropriate preposition in the sentence. “Nobody should jest
people.” [Ans: d]
(a) in (b) with (c) of (d) at (e) to
9]. Choose correct sentence from the followings. [Ans: ]
(a) My friend has gone out before I arrived. (b) My friend has gone out before I reached.
(c) My friend had gone out before I arrive. (d) My friend had gone out before I will armive.
(e) My friend had gone out before I arrived.
92. Choose a suitable connector in the blank space of the sentence “His crazy activities were crossing all limits
he was almost mad. [Ans: ]
(a) in other words  (b) really (c) in fact (d) in true sense (e) instead
93. What type of modifier the underlined word in the following sentence “The questions below are to be
answered.” Is- [Ans: c]
(a) Adverb pre modifier (b) adjective pre modificr (c) adjective post modifier
(d) adverb post modifier (¢) infinitive post modifier
94. The synonym of the word “perpetual’ is . [Ans: b]
(a) stable (b) Continuous (c) Static (d) Entire (e) Temporary
95. The antonym of the word ‘foremost’ is . [Ans: b]
(a) hindmost (b) unimportant (c) disposed (d) mature (e) delectable
96. Choose the correctly punctuated sentence. [Ans: e]
(a) Well we have finished our work for the day! - (b) Well, we have finished; our work for the day
(c) Well! We have finished our work for the day? (d) Well, we have finished, our work for the day.
(e) Well, we have finished our work for the day.
97. The scientist doing the research in the laboratory is my teacher. The underlined part is- [Ans: c]
(a) prepositional phrase (b) noun phrase (c) adjective phrase
(d) conjunctional phrase (e) Adverbial phrase
08. The indirect form of the sentence “He said to me, ‘you had better take an umbrella, it is raining heavily’.” 1is-
| [Ans: a]
() He advised me to take an umbrella as it was raining heavily.
(b) He told me better for taking an umbrella as it was raining heavily.
(c) He advised me to take an umbrella and it was raining heavily.
(d) As it is raining heavily, he told me to take an umbrella.
(e) As it was raining heavily, he advised me for taking an umbrella.
Read the passage carefully and answer 'quesﬁuns Q. 99 and Q. 100.
Most of us take life for granted. We know that one day we must die, but usually we picture that day as far as the
future. When we are in buoyant health, death is all but unimaginable. We seldom think of it. We go about our
petty tasks, hardly aware of our listless attitude to ward life until we loss it, of not being conscious of health
until we are ill. I have often thought it would be a blessing if each human being were stricken blind and deaf for
few days at sometime during his early adult life. Darkness would make him more appreciative of sight; silence
would teach him the joys of sound.
99. According to the writer we do not pay attention to life because [Ans: c]
(a) We think life is meaningless (b) We are too aggressive -
(c) We do not realize the value of life (d) We give more importance to death
(e) We are too tired
100. ‘Buoyant health’ means- [Ans: a]
(2) Excellent health (b) Poor health (c) To be unhealthy

(d) Recovering from illness (e) Getting heavier unusually

ErO /) O /




